TM:

® Hospital:
| | | |
INVENTORY CONTROL FORM I F Account #
alaxy Fixation ==
Date:
S\/Ste m Doctor:
XCALIBER BONE SCREWS GALAXY FIXATION SYSTEM ELBOW TRAY RODS AND CLAMPS TRAY
Code Description Quantity Code Description Quantity Code Description Quantity
912630 Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L Base Tray Lower Tray
260/30mm 93010 Large Clamp 93010 Large Clamp
912640  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 260/40 93020 Multi Screw Clamp 93020 Multi Screw Clamp
912650  Self-drilling XCaliber Screw Shaft @6mm Thread #6.0-5.6mm L 260/50 93110 Medium Clamp 932400 Rodd 12mm L 400mm
912660  Self-drilling XCaliber Screw Shaft @6mm Thread #6.0-5.6mm L 260/60 93410 Elbow Hinge 932350 Rodd 12mm L 350mm
912670  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 260/70 932200 Rod d 12mm L 200mm 932300 Rodd 12mm L 300mm
912680  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 260/80 939150 Rod d 9mm L 150mm 932250 Rodd 12mm L 250mm
912690  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 260/90 19940 Multi Screw Clamp Guide 932200 Rodd 12mm L 200mm
911530  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 150/30 30017 Allen Wrench 5mm 932150 Rodd 12mm L 150mm
911540  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 150/40 1-1100201 Drill Bit d 4.8x240mm Coated - Quick Connect 932100  Rod d 12mm L 100mm
911550  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 150/50 11138 Drill Guide d 4.8mm 932030 Semi Circular Rod d 12mm large
911560  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 150/60 11137 Screw Guide 80mm 932020  Semi Circular Rod d 12mm medium
911570  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 150/70 11116 Drill Guide d 3.2mm L 80mm 932010  Semi Gircular Rod d 12mm small
911580  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 150/80 19950 Drill Guide d 3.2mm L 100mm Upper Tray
911590  Self-drilling XCaliber Screw Shaft @6mm Thread @6.0-5.6mm L 150/90 11102 Screw Guide 60mm 93110 Medium Clamp
1-1300301 Drill Bit d 3.2x140mm Coated - Quick Connect 93310 Small Clamp
BONE SCREWS 1-1100301 Drill Bit d 3.2x200mm Coated - Quick Connect 939300  Rod d 9mm L 300mm
Code Description Quantity 11146 X-Wire without olive @ 2 mm Length 150 mm 939250 Rod d 9mm L 250mm
10190 Cortical Screws Shaft @ 6 mm Thread @ 4.5-3.5 mm L70/20 Insert Tray 939200  Rodd 9mm L 200mm
10191 Cortical Screws Shaft @ 6 mm Thread @ 4.5-3.5 mm L80/20 932200 Rod d 12mm L 200mm 939150  Rod d Smm L 150mm
10108 Cortical Screws Shaft @ 6 mm Thread @ 4.5-3.5 mm L80/30 93150 Racheting T Handle 939100 Rodd 9mm L 100mm
10135 Cortical Screws Shaft @ 6 mm Thread @ 4.5-3.5 mm L100/20 93155 Screw Shaft Connection 936200  Rod d 6mm L 200mm
10136 Cortical Screws Shaft @ 6 mm Thread @ 4.5-3.5 mm L100/30 93017 Wrench 5mm Shaft Connection 936180 Rod d6mm L 180mm
10105 Cortical Screws Shaft @ 6 mm Thread @ 4.5-3.5 mm L100/740 10017 Allen Wrench 6mm 936160 Rod d 6mm L 160mm
10137 Cortical Screws Shaft @ 6 mm Thread @ 4.5-3.5 mm L120/20 93440 Wrench 5mm 936140  Rodd 6mm L 140mm
10138 Cortical Screws Shaft @ 6 mm Thread @ 4.5-3.5 mm L120/30 10025 Torgue Wrench 6mm 936120 Rodd 6mmL 120mm
10106 Cortical Screws Shaft @ 6 mm Thread @ 4.5-3.5 mm L120/40 93431 Humeral Distractor Clamp 936100 Rodd6mm L 100mm
35100 Cortical Screws Shaft @ 4 mm Thread ( 3.3-3 mm L70/20 93432 Ulnar Distractor Clamp 936080 Rodd 6mm L 80mm
35101 Cortical Screws Shaft @ 4 mm Thread @ 3.3-3 mm L80/35 93420 Elbow Motion Unit 936060 Rodd6mm L 60mm
Code Description Quantity Code Description Quantity
19940 Multi Screw Clamp Guide 93310 Small Clamp
11138 Drill Guide d 4.8mm 93620 Wire Locking Clamp
11137 Screw Guide 80mm 936080 Rod d 6mm L 80mm
1-1100201  Drill Bit d 4.8x240mm Coated - Quick Connect 936100 Rod d 6mm L 100mm
11106 Drill Guide d 3.2mm 936120 Rod d 6mm L 120mm Manufactured by:
11102 Screw Guide 60mm 936140 Rod d 6mm L 140mm ORTHOFIX St
1-1300301 _ Drill Bit d 3.2x140mm Coated - Quick Connect 30017 Allen Wrench 5mm \T"a Delle Nazioni 9, 37012 Bussolengo (Verona), Italy
19955 Trocar 19975 Wire Targeting Device elephone +39 045 6719000, Fax +39 045 6719380
19960 Wrist Guide Template with Handle 19970 Wire Guide wwworthofix.com
13530 Drill Guide d 2.7mm 19980 Wire Bender
1-1355001  Drill Bit d 2.7x127mm Coated - Quick Connect 91150 Bone Screw T Wrench
19965 Tapered Trocar 81031 Open End Wrench C E 0123 GF-1305-PL-E0 B 07/22
M210 T Wrench
93150 Racheting T Handle
93155 Screw Shaft Connection
30017 Allen Wrench 5mm :
93017 Wrench 5mm Shaft Connection orthofix.com




